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Q.1 Out of the given options, three are similar in a certain manner. However, one option
is NOT like the other three. Select the option which is different from the rest.

Ans ¢ A 231
X B.391
X C.493
X D.357

Question ID : 75322912566
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Q.2 Which of the following answer figures, when placed in the blank space would
complete the patternin the question figure?

?

Ans o A A

=<
> X

X D.B
MAGE

Question D : 75322912569

Q.3 Out of the given options, three are similar in a certain manner. However, one option
is NOT like the other three. Select the option which is different from the rest.

Ans o A WSXZ
X B.NJLO
A C.s0QT
/< D. HDFI
Question ID : 75322912557

@Teacningninia.in




Q.4 Select the option that is related to the third term on the same basis as the second
termisrelated to the first term.
MN:LO =TG:?

Ans ¢ A SH
X B.WD
X C.HS
X D.AZ

Question ID : 75322912558

Q.5 Insert the letters that complete the first word and begin the second.
EX(____)ACLE

Ans X A TANT
X B.PERT

 C.TENT
X D ENCE

Question. D : 75322912556

Q.6 Inacertain code language,
'72' means 'very good'
'216' means 'a good day’'
'643' means ' day is beautiful'
What is the code for 'day’?

Ans X A 4
& B.6
56T
X D2

Question ID : 75322912560

Q.7 Four students A, B, C and D took an examination. In the results, B was immediately
followed by A but no one was after A. C was ahead of B but could not score as much
as D. Who among them scored the second highest?

Ans X A A
& B.C
X CB

X DD

Question ID : 75322912563

Q.8 Which letter among the following alphabet is the 8th letter to right of 17th letter
from right?
ABCDEFGHIJKLMNOPQRSTUVWXYZ

Ans X AK
X B.Q

Question ID : 75322912561
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Q.9 Which of the following Venn diagram best represents the relationship between
plants, cactus, living beings?

Ans X A A
IMAGE

=z 2 =
> X > = X
(] ( (o]
m O 1N e m
o = o

Q.10 Complete the following letter series:
a_cdb_da_da_da_c

Ans ¢ A becbb
< B.cchbb
X C. becedb
X D. achda

Question ID : 75322912568

Question ID : 75322912555
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Q.11 From the given answer figures, select the one in which the question figure is
embedded.

Question ID : 75322912573
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Q.12 Four positions of the same dice is shown. Find the letter that will be opposite to A.

(i) (i) (iif) (iv)

Question ID : 75322912570

Q.13 Inthe question two statements are given, followed by two conclusions, | and Il. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1:All doctors are very intelligent.
Statement 2: Juhiis studying second year medical.
Conclusion | : Juhiis very intelligent.

Conclusion Il : Juhi has a bright future.

Ans X A Only conclusion Il follows
X B. Both conclusion | and Il follow
X C. Either conclusion | or Il follows

«” D. Only conclusion | follows

Question ID : 75322912564

Q.14 Select the option that is related to the third term on the same basis as the second
termisrelated to the first term.
12:30::20:?

Ans X A 35

o B 42
N6.32
X D.48

Question ID : 75322912567

Q.15 Looking at a woman sitting beside him, Varun said, " She is the daughter of the
father of the sister of my brother". How is that woman related to Varun?

Ans X A Daughter
o B. Sister

X C. wife
X D. Mother

Question ID : 75322912562
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Q.16 Which of the answer figures is the right water image of the given figure?

Ans

RAJ589D38

XAC
MAGE

BYIre80D8

v

KVY1286D8

X C.n
IMAGE

dvreg8oDS8

X D.B
MAGE

dv128aD8

Question ID : 75322912574
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Q.17 Out of the given options, three are similar in a certain manner. However, one option

Ans

is NOT like the other three. Select the option which is different from the rest.

X AD
IMAGE

MAGE

Ko
IMAGE

Question ID : 75322912571

Q.18 Select the option that is related to the third term on the same basis as the second

Ans

termis relatedto the first term.

Sad: Cry :: Angry: ?
X A Shrill
v 8. Shout
/< C.Roar
X D. Cheer

Question ID : 75322912559
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Q.19 Which of the followin

Ans

answer figures completes the series of the question figure?

® %

X %

*
A

*

X AB
IMAGE

*

les)
o

X\

m

X

X DA
MAGE

] %

Question ID : 75322912572
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Q.20 Inthe question one statement is given, followed by three assumptions, I, Il and IIl.
You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given assumptions, if
any, follows from the given statement.

Statement:" Buy 'X' T.V. for better picture quality"'— An advertisement.
Assumption|:'X' T.V.is the only T.V. in the market.

Assumption Il :'X' T.V. is the costliest.

Assumption 1l : People generally ignore such advertisements.

Ans ¢ A Noneis implicit
X B.Only assumption | is implicit
/X C.Only assumption [ll is implicit.

< D. Only assumption Il is implicit

Question ID : 75322912565

Q.1 Cox's Bazarin has the world's longest natural sea beach.

X B. South Africa
X C.lreland
X D.Canada

Question ID : 75322912583
& N

exSn, “mmmarem

Q.2 Sifan Hassan broke a five-year-old world record in the 10,000m by 10.63 seconds,
she is from which country?

Ans X A France
«” B. Netherlands
X C.Belgium

X D. Germany

Question ID : 75322912593

Q.3 Infrared light or heat is used for what purpose?
Ans ¢ A Cooking food

/< B. Coloring the clothes

/< C.Washing clothes

2% D. Drying Floor

Question ID : 75322912581

Q.4 Powada is the Marathipoetry on valour. What is the meaning of Powada?

Ans X A Victory

B To ‘glorify
X C. Grateful
X D. Powerful

Question ID : 75322912576
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Q.5 India's rank in Global Peace Index 2021 is: Select the correct option.
Ans X A 153rd

X B.125th
 C.135th
X D.116th

Question ID : 75322912590

Q.6 LalBahadur Shastri promoted which Revolution in India in 1965?
Ans X A Black

X B.Red
X C.Pink

«” D. Green
Question ID : 75322912591

Q.7 In 2021 which city won a Smart City Award in 2020 for Smart Water Metering Water
ATM?

Ans X A Surat
«” B. Dehradun
/X C. Ahmedabad
X D.Indore

Question ID : 75322912589

Q.8 GDPisthetotal monetaryor market value of all the finished goods and services
produced within a country's borders in a specific time period. What is the full form
of GDP?

Ans X A Gross demand product
B. Gross domestic product
X C. Gross double product

X D. Gross domestic producers
Question ID : 75322912577

Q.9 When baking soda is heated with water which gas is released?
Ans X A Sodium oxide

X B.Oxygen
/< C. Nitrogen

& D. Carbon dioxide

Question ID : 75322912580
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Q.10 Mohenjo-daro is an archaeological site in the province of Sindh, Pakistan. What is
the meaning of Mohenjo-Daro?

Ans ¢ A Mound of the Dead Men
X B. Mound of the Happy Men
X C.Mound of the Dreadful Men

X D. Mound of the Great Men

Question ID : 75322912586

Q.11 Whichis the most famous folk dance of Himachal Pradesh ?
Ans X A Jawara

X B Kathak
X C.Rouf

" D. Nat

Question ID : 75322912575

Q.12 From the following options choose the river which is called the smallest river in the
world?

Ans X A Ombla
X B. Amazon River
«” C.RoeRiver
X D. Tamborasi River

Question ID : 75322912582

Q.13 Through which instrument the humidity of the atmosphere can be measured?

Ans X A Thermometer
X B. Caliper

& C. Hygromete
X D. Micrometer

Question ID : 75322912579

Q.14 Select from the following which is the hottest planet in the solar system?
Ans ¢ A Venus

X B. Mercury

X C.Mars

X D. Jupiter

Question ID : 75322912584
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Q.15 Recently(as on August 2021), Defence Research and Development Organization
(DRDO) have successfullytest fired _______________ rocket which is an indigenous
development rocket system.

Ans X A Agni
o B. Pinaka
X C.Shastra
X D. Astra

Question ID : 75322912588

Q.16 Banawaliis an archaeological site belonging to the Indus Valley Civilization period in
which district of Haryana?

Ans ¢ A Fatehabad
X B.Sirsa
X C.Jind
X D. Kurukshetra

Question.ID : 75322912585

Q.17 Who was the third Prime Minister of India?
Ans ¢ A Indira Gandhi

X B. Jawaharlal Nehru

/X C.Lal Bahadur Shastri

25 D. Morarji Desal

! Question ID : 75322912592

Q.18 Sangam Age is the period from the in south India.
Ans X A. 4th century BC to 4th century AD

X B. 2nd century BC to 2nd century AD
«” C. 3rd century BC to 3rd’gentury Al

25 D. 5th century BC to 5th century AD

Question ID : 75322912587

Q.19 Minimum Support Price is related to:
Ans X A Mining

X B.Fishing
/X C.Cement

 U. Agricultural

Question ID : 75322912578
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Q.20 The Dhyan Chand Award is officially known as Dhyan Chand Award for Lifetime
Achievement in Sports and Games. What is the prize money for this award?

Ans o A Rs 10lakh
/X B.Rs 3 lakh
X C.Rs 15lakh
/X D.Rs 5 lakh

Question ID : 75322912594

Q.1 Find compound interest on Rs. 18000 at 13% per annum for 2 years, compounded
annually.

Ans X A Rs.4848.2
X B.Rs.4884

X C.Rs.4948.2

 D.Rs.49842

Question ID : 75322912606

-

Q.2 Atrain overtakes two persons who are walking in the same direction in which the
trainis going, at the rate of 4 kmph and 6 kmph and passes them completelyin 12
seconds and 15 seconds respectively. The length of the train (in metres)

Ans X A 50 meter

v 4 B
X C. 40 meter

100/3 meter

25 D. 100 meter

Question ID : 75322912607

Q.3 The number which is divisibleby 7is_________________ “
Ans ¢ A 252

X B.155

2 €852

X D.246

Question ID : 75322912595

Q.4 Two tanks of similar volume are full of a mixture of oil grade-A and grade-B. In the
first, the ratio of grade-A and grade-B is 5:8 and in the second, it is 7:19. If both
these tanks are poured in a larger tank, what would be the resultant ratio of grade-A

and grade-B?

Ans ¢ A 17:35
X B.17:13

2 C.3517

% 0 13:17

Question ID : 75322912605
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Q's If2°x 3% x7¢ = 1176 then 2° + 3% + 7¢ = )
Ans X A.70

X B.80

X C.50

« D.60

Question ID : 75322912599

Q.6 Two trains of length 220 m and 190 m respectively are running at the speed of 80
km/hr and 64 km/hr on parallel tracks in opposite directions. In what time they will
cross each other?

Ans X A.825sec
X B.10sec
X C.12.25sec

o D.10.25 sec

QuestionID.: 75322912608

Q.7 If ashopkeeper offers a discount of 30% on the marked price of his goods and thus
ends up selling at cost price, what was the % mark up?

Ans X A 65
X B.75
X C.60
 D.42.86

Question ID : 75322912600

Q.8 If 8.6% of pis 43thenp =
Ans X A 600

X B.300
« C.500
25 D. 400

Question ID : 75322912601

Q.9 If the sum of two numbers a,bis 99 and the H.C.F. and L.C.M. of these numbers are
3 and 660 respectively, then square of (a-b)is

Ans ¢ A 1881

X B.1581
X C.2081
X D.1681

Question ID : 75322912598
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Q.10 Population below 25 years and total population of different sectorsin alocalityis
represented by the bar graph. Which sector has highest percent of below 25 years
as compared to total population?

Q.1

Ans

Q.12 If p% of 12=q% of 20, then(p-q):q =

Ans

1,000,000 -
900,000
800,000
700,000
600,000
500,000 -

Population

400,000 -
300,000 -
200,000 |
100,000 -

# Polpulation below 25 years  » Total Population

850,000
500,000

250,000
150,000
8

Sectors

950,000

X AB
XBD
@ C.A
Xoc

If2P=4x 2% &9x3?=3"9thenp-q=__

X A3
X B3
* B2
v D.2

X AT73
X B. 43
7 C.103

52
JL:L;\

Question ID : 75322912613

Question ID : 75322912596

Question ID : 75322912602

Q.13 If the sum of length, breadth, and height of a cuboid is 19 units, and length of its

Ans

diagonalis 15 units, then the total surface area of the cuboid is

X A. 78 sq.units
o” B.136 sg.units
X C.232 sq.units
X D. 68 sq.units

Question ID : 75322912611
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Q.14 Find the largest number which can exactly divide 2048, 2052, 3526.
Ans X A 13

v B.2

XcC4

X D.26

Question ID : 75322912597

Q.15 Daily doses of COWIN administered for vaccination in a week in a state in India and
total doses available that day is represented by the bar graph. It was decided to
double the rate of vaccination in urban areas on 19-june & 21-june, then how many
more dose are needed?

% Urban Areas = Total doses available

1,000,000 - 950,000
900,000
800,000 -
700,000 |
600,000 -
500,000 |
400,000 -
300,000

400,000

Vaccination

250,000

200,000 +
100,000 +

16-Jun-21 17-Jun21 18:un-21 19-Jun-21 20-Jun-21 21un-21 22-Jun-21
Date

Ans X A 150000
« B. 100000
X C. 225000
X D. 200000

Question ID : 75322912614

Q.16 The total expenditure (in Rs. Crores) of a coaching company from January to May
on three of its courses X, Y,and Z is shown in the table. Calculate the total profit in
the 5months.

Courses
Month
X Y F 4 Sales (In Rs.)
Jan 70 120 70 800 crores
Feb 25 95 70 950 crores
Mar 70 120 120 1000 crores
Apr 120 45 20 650 crores
May 70 120 120 1100 crores

Ans X A.Rs 5243 Crores
/X B.Rs 4532 Crores
X C.Rs 2345 Crores

o D. Rs 3245 Crores

Question ID : 75322912612
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Q.17 Pipe Acan fillatank in 16 hours and pipe B can fill it in 18 hours. Both the pipes are

Ans

opened and after four hours, pipe Ais closed. How much time will B take to fill the
remaining part of the tank?

X A Shrs
X B.105hrs

X C.10hrs

& D.9.5hrs

Q.18 By selling an article for Rs 800 more, Kavita would have made 7% profit on hes sale

Ans

instead of a 13% loss. What was her cost price?
X A Rs.3900

« B. Rs.4000
X C.Rs3700
X D.Rs.3800

Q19 3x+2y 17

=—then9x: 7y =_ ?
3x-2y 13 -

X A 745
X B.97
¢ C.457
X D79

Q.20 The surface area of a cube (in cm square) whose edge equals to 15cm is

Ans

& A 1350
X B.900
X C.225
X D.13.50

Question ID : 75322912609

Question.ID : 75322912603

Question ID : 75322912604

Question ID : 75322912610
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Q.1 Select the word segment that substitutes (replaces)the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(It's recommendations are based on detailed comparisons between) the public and
private sectors.

Ans X A It's recommendation is based on detailed comparisons between
< B.It's recommendation is based on the detailed comparisons against
J C. Its recommendations are based on detailed comparisons betweer

X D. No correction required

Question ID : 75322912617

Q.2 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A.crematarium
&’ B. crematorium
X C. cremetarium

< D. cremetorium

Question ID : 75322912625

Q.3 Four words are given, out of which only three words are spelt correctly. Choose the
one spelt incorrectly.

Ans ‘;’ A volitile
X B.torpor
2 C.whimsical

X D. tortuous

Question ID : 75322912626

Q.4 Select the word that is similar in meaning (SYNONYM) to the word given below

horticulture
Ans X A nascent

«” B. cultivation
X C.litigation

X D.omniscience
Question ID : 75322912624

Q.5 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option ‘No
Error'.

The person to who this/ letter was addressed/ died three years ago.
Ans X A letter was addressed

X B.NoError

X C. died three years ago.

o D. The person to who this

Question ID : 75322912616
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Q.6 Fillinthe blank with the most appropriate choice

Ishalltryand ____________
think of something.

my thoughts into something readable as soon as | can

Ans ¢ A coalesce
X B.convalesce
/X C.converge
2< D. cogent

Question ID : 75322912620

Q.7 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

Violent scuffles

P. broke out

Q. groups demonstrating
R. for and against

S. between rival
independence.

Ans X A RSPQ
 B.PSQR
X C.RPSQ
/< D.RQSP

Question ID : 75322912621

Q.8 Select the most appropriate idiom of the given meaning

Someone who isn't adequate enough to compete or participate
Ans X A Beata deadhorse

X B.Eggon
o C.Cantcut the mustare

X D. Bend over backwards
Question ID : 75322912628

Q.9 Select the word that is opposite in meaning (ANTONYM) to the word given below

lunatic
Ans X A maniac

 B. sane
X C.flake
X D.crank

Question ID : 75322912623
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Q.10 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

For John and |, it/ has worked best/to read chapter books.
Ans X A.toread chapter books

/< B.has worked best
< C.NoError

 D. For John and
Question ID : 75322912615

Q.11 Select the most appropriate ‘one word ' for the expressions given below
Aherd or flock of animals being driven in a body
Ans o A Drove
X B. Sycophant
X C.Imprudence

< D. Iconoclast

Question ID : 75322912629

Q.12 The question below consist of a set of labelled (P, Q, R, S) sentences. Out of four
options given, select the most logical order of the sentences whichforma
paragraph.

An ultralight airplane is very different from a conventional airplane.

P. Accidents are rarely fatal or even serious because the ultralight lands so slowly
and gently and carries very little fuel.

Q. Most ultralights are sold as kits and take about 40 hours to assemble.

R. It looks like a lawn chair with wings, weighs no more than 254 pounds, flies up to
60 miles an hour, and carries about 5 gallons of fuel.

S. Flying an ultralight airplane is so easy that a pilot with no experience can fly one.

Some models now have parachutes attached, while others have parachute packs
which pilots can wear.

Ans X A SPRQ

 B.RQSF
X C.RPSQ

X D.PRSQ
Question ID : 75322912622

Q.13 Select the most appropriate meaning of the given idiom

Herculean task
Ans VV A. A tedious jot

X B.Tounderstand the details
X C.Inasafeplace

X D. Main support

Question ID : 75322912627
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Q.14 Fill in the blank with the most appropriate choice

Chocolateisreportedtohave ______________ properties, releasing similar chemicals

to that of a love affair when eaten.

Ans X A symposiac

«” B. aphrodisia
X C.amnesiac

< D.aphasiac

Question ID : 75322912619

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

Einstein (was one of the world's greatest thinker).
Ans X A. No correction required

X B.was one of the worlds greatest thinkers
X C.wereone of the world's greatest thinkers

o” D.was one of the world's greatest thinkers

Question ID : 75322912618

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Insects are found throughout the world except on the poles. Fossilrecords indicate that
many species exist today in much the same form as they did 200 million years ago. T heir
enormous hioclogical success is attributed to their small size, the remarkable adaptive
abilities of the group as a whole and the enormous variety in body structure and way of life.
The mouth parts may be adapted to chewing, suckingor lapping and the legs for running,
jumping or swimming. Insects may feed on plants or prey upon other small animals or
parasitize larger ones. They may be omnivorous or highly specialized in their diets. They
display a remarkable variety of adaptive shapes and colours that may serve as camouflage.
Some have stinging spines or hair and blistering or noxious secretions used for defence.

SubQuestion No : 16
Q.16 It is stated in the passage that insects

Ans ¢ A can feed on prey smaliehand largerthan them
X B.have changed significantly in their shape and size in their journey of evolution.
X C.allinsects display similar characteristic in general.

/X D. are found throughout the surface of the Earth.

Question ID : 75322912635
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Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Insects are found throughout the world except on the poles. Fossil records indicate that
many species exist today in much the same form as they did 200 million years ago. T heir
enormous biological success is attributed to their small size, the remarkable adaptive
abilities of the group as a whole and the enormous variety in body structure and way of life.
The mouth parts may be adapted to chewing, sucking or lapping and the legs for running,
jumping or swimming. Insects may feed on plants or prey upon other small animals or
parasitize larger ones. They may be omnivorous or highly specialized in their diets. They
display a remarkable variety of adaptive shapes and colours that may serve as camouflage.
Some have stinging spines or hair and blistering or noxious secretions used for defence.

SubQuestion No : 17
Q.17 Which of the following cannot be attributed the enormous biological success of

insects?
Ans X A Diet
X B. Abilities
X C.Size
o D. Intelligence
Question 1D : 75322912632
Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Insects are found throughout the world except on the poles. Fossil records-indicate that
many species exist today in much the same form as they did 200 million years ago. T heir
enormous biological success is attributed to their small size, the remarkable adaptive
abilities of the group as a whole and the enormous variety in body structure’and way of life.
The mouth parts may be adapted to chewing, sucking or lapping and the legs for running,
jumping or swimming. Insects may feed on plants or prey upon other small animals or
parasitize larger ones. They may be omnivorous or highly specialized in their diets. They
display a remarkable variety of adaptive shapes and colours that may serve as camouflage.
Some have stinging spines or hair and blistering or.noxious secretions used for defence.

SubQuestion No : 18
Q.18 According to the passage, how long can you date back the existence of insects?
Ans X A 150 million years

/X B. 300 million years
«” C. 200 million years
X D. 250 million years

Question ID : 75322912631
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Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Insects are found throughout the world except on the poles. Fossil records indicate that
many species exist today in much the same form as they did 200 million years ago. T heir
enormous biological success is attributed to their small size, the remarkable adaptive
abilities of the group as a whole and the enormous variety in body structure and way of life.
The mouth parts may be adapted to chewing, sucking or lapping and the legs for running,
jumping or swimming. Insects may feed on plants or prey upon other small animals or
parasitize larger ones. They may be omnivorous or highly specialized in their diets. They
display a remarkable variety of adaptive shapes and colours that may serve as camouflage.
Some have stinging spines or hair and blistering or noxious secretions used for defence.

SubQuestion No : 19

Q.19 Where on Earth are insects not found?
Ans ¢ A Poles

X B. Forests
X C.Deserts

X D.Qceans

Question.ID : 75322912633

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Insects are found throughout the world except on the poles. Fossil records indicate that
many species exist today in much the same form as they did 200 million years ago. T heir
enormous biological success is attributed to their small size, the remarkable adaptive
abilities of the group as a whole and the enormous variety in body structureand way of life.
The mouth parts may be adapted to chewing, sucking or lapping and the legs for running,
jumping or swimming. Insects may feed on plants or prey upen other small animals or
parasitize larger ones. They may be omnivorous or highly specialized in their diets. They
display a remarkable variety of adaptive shapes and colours that may serve as camouflage.
Some have stinging spines or hair and blistering or noxious secretions used for defence.

SubQuestion No : 20

Q.20 According to the passage, which of the following option is incorrect? Choose one
option.

Ans X A lInsects are highly adaptive.
X B.Insects display a remarkable variety of adaptive shape and colours.
«” C. Insects are the oldest coiriplex ivirig organism found on the planet

i

X D.Insects have varied kind of a diet

Question ID : 75322912634
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Q.1 f=fafeaus | ar faeedt & |, 39 fawe &1 ga7 ¥ &t fag g ereg; & wafaardt ereg &
gt fReea g g 1
ar
Ans X A FW@d
o B.3R
X C aRam
/X D.A&F

Question ID : 75322912640

Q.2 fo=faf@aus d, ar fAaeal / |, 39 ferey o1 Taq & &) faens reg &1 99 a1 faeseu
2l

Gt
Ans ¢ A w@TTd
X B.ay
X C. &
X D. g

Question ID : 75322912641

Q.3 fr=faf@a sy d, ar faeeat A |, 39 farea &1 9o & o1t farm g g avea &1 agt fame
gt
Ans X A arfge aorifa & ot g gt 9ame & - dwdg

X B. 'aifgcs art-f3 & amt g arelt Aard & Beeg
e{‘ C. "qriged TSt & T Te aret T{:W:—‘ - TaE

X D. arfge T & ot g areft mane o - dude

Question ID : 75322912647

Q.4 =i un | ar feeul 7 @, 39 faemea @ waa &3 5t few 7o e & o afo-fomde &
farerea gl
RATHT

Ans X A TT+ HIET
o B. TTH + 37a
X C.uzdr+ au

X D. W+ 3T

Question ID : 75322912636

Q.5 fa=ferf@aus d, ar foeredt & @, 39 fereu o1 waa &3 o1t 9@} arera 3e &1 faerea gl
S1a 39 firan &t 7 8 7 aa ag feeeft Stz 9 man

Ans o A THH TR
X B. 3d@Ergeh g

X C. 9qh argg
X D. WA areg

Question ID : 75322912646
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Q.6 frafef@a ns d, R faweat & |/, 30 fasen &1 g7 a1 &t €1 71 qgrar & gt aref aren
faeea g1
TR STHTAT -

Ans X A 3R @1
X B. @

X C. A8 el

o D. 79 5]
Question ID : 75322912650

Q.7 fr=faf@a e o, ar fereal & |, 39 farew &1 gaa & ot fog 7o ereg-gim & wgt o aren
fererea g1
mafa-adh

Ans X A gi-fawo
X B. faworfire
o C. vy
X D ford-agd

Question ID : 75322912639

Q.8 fafafea ws A, ar fomedt & |, 39 faerey &1 77 & @Y Sual & a9 2reg &1 @@l farea gt
Ans X A gfeid

X B.gImgd

 C. @y

X D.afers

Question ID : 75322912638

Q.9 fa=faf@aund, ar fAewreal d @, 39 gl faewa &1 g7 &2 51t areaiat & forg o g &1
farerea g1
&t gfeg arem

Ans X A faemiff
X B.duedh
« C. 3adfg
X D. gl

Question ID : 75322912642

Q.10 fr=fafaa aerd, ar faeeat § @, 39 frerea o1 ga3 & 91t g 1y 2reg & forg @ agew
ATy & fomrg &1 e gl
AT

Ans X A saq ot T
X B.Ig g vaA
X C. g W Hgq

o D. U & fau va

Question ID : 75322912637
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Q.11 frafaf@ausrd, ar faereat & |, 39 ey &1 9g=1 &< ot fag Ty wtentf<n o ag) aref arer
faerea g1
FHft ot g at soft g& 7= -

Ans X A 12 # 9gd O Fe
X B ifts ufesp @A aw
X C. U 48 gt & el

o 0. ufifatat &t ve i A e
Question ID : 75322912648

Q.12 fa=fafaEa us A, ar faweat 7 |, 39 e &1 gga & &t fg o are & i@ wd=me &
¥ T T faremea &
w@re | o &l g1

Ans X A UZNaTIS FdAH
X B.usamae gdam
X C. ddsdrad gdqam

o D. FRgmaraes g
Question ID : 75322912645

Q.13 famafaf@a s A, ar faemeat & |, 39 faeey &1 aa3 ¢ &t &) 78 qgrat &1 @g) eref arern
faerea 21
ATH SHHTAT -

Ans X A 9T ST
 B. g &
X C. gzt g
X D. wderd awn

Question ID : 75322912649

Q.14 fr=fafea us A, ar fasedt & 4, 39 faene a1 sua & o1t fig 1Q ez & agaas & & gad
3= forerea g1
qgh
Ans X A wEas
4 B. 98ch
X C.u5&H
X D. gzat

Question ID : 75322912644
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Q.15 frafaf@a s d, ar faereat & |, 39 ey &1 9g7 & ot fig v ereg & Sifem &g arar
faerea 21
q1aH

Ans o A TR
X B.aifadht
X C. A&
X D T

Question ID : 75322912643

Comprehension:

12 fag M2 e @ S 0¢ ofR TR fadmed § & Ui U l gatad IR 94|

Higermai &t e & e & g R & & 7 off amr aify| Afgemd e’k ok wome gl g ww @
g o o folg IUgeh Biell ] B8R & H s SITTE AigaTd Sk AR 3R AR gl ] 3k a=d off
SUINUT & SHROT eI Feg o UTH & ST & AfSersi &l 39 ag hl GHTs] &l GHIYH Afgeld g el
ifd & Gehdl! & o WIRETY 39 AT i HUFI A g 8, TR I Ul 39 e @t o i
& oG T8 A 39 dvE faaw giaw Afgansit ot Rifdhan & araam @ g g1 ugan g ufat &
a7t fga 7 1o FRefes SR dht e il T i ST aferat ot feen & 83 8 oH & oo dfa
1 T1fRY| afe gew BT aR was at aTet 3k aRaR gt @ g st g

SubQuestion No : 16
Q.16 T & AR adATT § Afgard fora a5 7 auf e wrdwa §?

Ans o A TRIEd & FTH

X B @ dHaRm

X C.amodt & e |

X D. R & gt o

Question ID : 75322912652

Comprehension:

4 Ry ety &t egde ue 3R AR fAehen B & Ui U o garad 3T g4 |

HigeTaT &t fR1erm & i & g Rifdhen & atx 3 oft s anfgy| g RR ok @wrE gFl & 9
39 & o fAg Iugeh giett 8] &R &1 § ehs g AR SFRR AR SR AR Zaedt 8] 39 aed off
GUITUT ch RUT el H h UTE & 1 8] Algensil i 34 dvg hl FHES ol AT Afgend & weft
i &R Gerel & o AR 3 A & ST A TTEd , W 373 Ul 39 aagr i ot ufasn
& S 8 A 39 a¥E faaw gie Afgest ot fafenen & g @ fagwa g ugan g ufeat &t
gaTs f2d 7 aroat frefes argar &t sra= ot dant i 3raHT oferat ot fRifehear & et & o & fow ofg
1 91fey| afe gy U1 a Tk ot gl ok aRar g1 &1 g svedror gl

SubQuestionNo : 17
Q.17 39 =% &l s Iugh fefah-
Ans X A gom fgd

X B. gzl & wfiefa
X C. smfafgs smam

& D. Rfdicar & el d afgensi 1 srasgd

Question ID : 75322912656
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Comprehension:

4 feg mat Teniar A egdS ¢ 3R IR fadent § @ Ui U & 9a T 3R 94 |

Hfgetart @t Rer & et & g Rfdiear & et F of o anfee] afend ekR ok g g+t € wu @
39 e o 1Y UG giclt 8] AR & H o STg ARy SFeRR AR SR HHSIR @l 8] 39k ared off
UINUT & HROT 3HeRTel g & UTH & ST g AfSrai &l 39 avg i Greansl &l THTgH Afged g sl
Hifd e Fehelt & F© AfeeTd 3 craar &t s at aredt 8, R 37 ufd 39 sgayr &t siuHt ufast
& SR 8 HIA| 39 avg s faw Afgensi &t Rifthen & araar @ R g g 8] ufidi &t
Tt fea 7 aroe el g Y e ot A ot afcrat o Rfee & g A e & e ot
AT ARy afe gy Uar o T dt Tt ok aRar ST a1 g evearor g

SubQuestion No : 18
Q.18 aAfgenai &t fRferea & ax o aaf omt s wfgw?
Ans X A ifes gg st R wfgermsi & fag 8
o B. i 38 w¥R 3l @erra 21 | & s9a g 8
X C. wifeh a8 e o @ora gt & £ e wfdegel &
X D. Faifeh 39 &7 7 3 & forg 373 o aga awa @

Question ID : 75322912653

Comprehension:

e feg ma ety @t ergdE 0d ok TR faeed # & Ui Uy & Gatad I 94|

Tfgeman ol a1 & &3 & T fafeiear & et 7 off smar anfgy Afgend e’k ok @y it & =a &
39 & o Y Iugh gidt & gR 391 H ohd TTTE ARET SrRR AR SfiX FASTR et & ek sred oft
FUIYUT & HROT SHehTel Heg & Y &4 ST & Afgenait i g9 avg & gewansil o gare afgerd g vl
i I Tehelt & Fo AR ST HGTR &l HUAHT df ATeT 8, TR 37 T 3T G i ST+ TSt
o Sl A8l HId| 39 v faar gle wigersit ot Rifohean & eaaara 4 fam@ gin ugdr g oot &t
guret f@d A sru el g Y sirast et cmt g st ufsa ot Rifeher & el # o & fow dfka
1 91fgy| afe gy Tar aw 9ah at wret ofR aRar 21 &1 g aemor g

SubQuestion No : 19
Q.19 3 @ wi=-an ferqa ot famite areg @2
Ans o A THE
X B. T
X C.aqe
X D3

Question ID : 75322912655
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Comprehension:

4 fog mat Tenier Bt e gdSE ¢ 3R IR fadhen § & Udieh U & 9a T 3R 94|

afgermart @t Rier & et & g Rfdiear & ets F of s anfRe] afgent ekR ok g g+t € w0 @
39 @ o oy IUh giclT 8] BHR &2 H o ST AfpeiTy e SR 3R HAGR Tl 6 I ared off
UINUT & SHROT eI g & UTH & ST & AfSrai &l 39 ag hl GHeansil &l GHTYM Afged g el
Hifd e Fehelt & F© AfeeTd 3 craar &t s at aredt 8, R 37 ufd 39 saawr it siaH! ufast
& e T8 A 39 a¥e faaw gie afgensit & Rfdhan & aaam @ g gar ugar | ufet &
Tt fea 7 aroe el argarR Y sy et A i ot afcrat ot Rfehe & gis 7 o & e ot
AT ARy afe gy Uar o Tk dt wErSt ok aRar ST a1 & avearor g
SubQuestion No : 20

Q.20 gaTs fga # wizdta ufet & @ anderr Y € &2

Ans X A& d afal & g Rifeeen & &t | o &g
X B.f&d ufqai &l aff e 2 5 & wad Tred &
 C. fih @ oferal &l Rfrem & e # o & fomg g &

X D. &5 3 uferai &t Rfdham & et 7 94 & forg 7em

Question ID : 75322912654

Q.1 Achild belonging to Gond tribe came into the city with his family. He was admitted
to a public school nearby. Even after months, he was not able to make friends or
become a part of any group. The teacher used to ignore his interests following
which he lost his self confidence. Which feature of socio culture is being highlighted
inthe above situation?

Ans X A stereotype
o B. marginalisation
X C.urbanisation

< D. feminism

Question ID : 75322912673

Q.2 According to Piaget, at which stage the children learn about their environment
through their senses?

Ans X A formal operational stage (12 years onwards)
/X B.pre operational stage ( 2-7 years)
< C. Concrete operational stage (7 to 12 years)

“J D. sensori motor stage ( birth-2 years)
Question ID : 75322912662

Q.3 The student behaves aggressively in the classroom, he needs help in:

Ans X A cognitive domain of learning
Y 4 B. affective domain of learr ing
X C. psycho motor domain of learning

/< D. High order thinking skills

Question ID : 75322912666
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Q.4 Which psychologist talked about Latency period in theory of sexual development?
Ans ¢ A Freud

X B.Erikson
X C.Vygotsky
X D. Piaget

Question ID : 75322912658

Q.5 At which stage of child development, does the child become unrealistic?
Ans X A Adulthood

,‘V B. Ad Nescence
X C. Childhood

X D. Infant
Question ID : 75322912663

Q.6 Inthe revised version of Bloom's Taxonomy in 2001, the noun 'synthesis' was
changed to which of the following verb?

Ans X A defining
/< B.combining

o’ C.creating
X D. blending

Question ID : 75322912670

Q.7 There has been various policies framed in NEP 1986,1992,2005 and 2020. All of these
policies made by education ministries and other officials are best categorised under
which dimension of socio cultural environment?

Ans X A social
/X B.technological
X C.economic

L. palitical
Question ID : 75322912675

Q.8 Achild has a schema for dog based on his experience with his own pet, then he sees
another dogin the garden, he is able to recognize the animal. Which process of
cognitive development is highlighted in the statement?

Ans X A Accommodation
/% B. Equilibrium
X C. Operations

o L. Assimilation

Question ID : 75322912669
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Q.9 During the pandemic, it has been an easy journey for the students of private schools
to continue their studies whereas it has been a tough journey for the students of
government school. Which feature of socio culture is being highlighted in the above
situation?

Ans X A political factors
X B. physical factors
X C. cultural diffusion

& D. technological factors
Question ID : 75322912674

Q.10 At which stage of child development does the child develops ideas of honesty,
empathyetc.

Ans X A Infant
o’ B. Adolescence
< C. Childhood

25 D. Adulthood

Question 1D : 75322912660

Q.11 At which stage of child development, does the child feel that every body is looking at
them and they become conscious?

Ans X A Infant
«” B. Adolescence
X C. Childhood
< D. Adulthood

Question ID : 75322912664

Q.12 In which stage of child development children enjoy fantasy stories like fairy tales
the most?

Ans X A Adolescence

X B. Adulthood
+” C. Infant
25 D. Newborn

Question ID : 75322912657

Q.13 Which domain is also called as conative domain of learning?
Ans X A. High order thinking skills

X B. Cognitive

" C.Psycho-motor
X D. Affective

Question ID : 75322912667
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Q.14 Which of the following is not a domain of learning?
Ans ¢ A Spiritual

/% B.psycho motor

X C. affective

X D. cognitive

Question ID : 75322912665

Q.15 Which of the following is not a factor of socio culture impact on the development
of a child?

Ans X A.urbanisation
/X B religious centres
X C.nuclear families

«” L. examinations

Question ID : 75322912671

Q.16 Which stage of child development refers to the period of 'stress and storm'?

Ans ¢ A Adolescence
25 B. Childhood
X C. Infant
X D. Adulthood

Question ID : 75322912661

Q.17 Which psychologist talked about private speech for self regulation?
Ans X A Rousseau

" B. Vygotsky

X C. Piaget

25 D. Kohlberg

Question ID : 75322912676

Q.18 Father of Ram and Sita, got toys for them.By default he gifted the boy an
aeroplane. Which feature of social culture is highlighted in the statement?

Ans X A equality

o B. sterentype

X C.marginalisation

X D. feminism

Question ID : 75322912672
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Q.19 Which stage of child development refers to the period of Gang Age?
Ans X A Adolescence

X B. Adulthood
«” C. Childhood
X D.Infant

Question ID : 75322912659

Q.20 Which action verb is used for evaluation in cognitive domain?
Ans X A Define

/X B.recognize
X C.discover

L. criticize

Question ID : 75322912668

Q.1 Which amendment of constitution of India made the Right to Education a
Fundamental Right?

Ans 7 A 86
X B.79
X Ca
X D.75

Question ID : 75322912683

Q.2 Ateacher canrespondto the interests of children with special needs by:

Ans X A asking the other students to address them as disadvantaged and express
sympathy
«” B.being aware about th@individL & diffefences of students and create individualised
learning matenal
2% C.ignoring the individual differences
< D. making them sit separately in the classroom so that they do not mix with other

children

Question ID : 75322912688

Q.3 Which of the following is referred as Magna-Carta’ of English Education in India?
Ans ¢ A Wood's despatch

7% B.national policy of education 1986
X C. Kothari commission

X D.Right to education act, 2009

Question ID : 75322912681
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Q.4 Everychild of the age of sixto fourteen years, shall have the right to free and
compulsory education in a neighbourhood school tillthe completion of his or her
elementary education. Which act provides the above recommendation?

Ans X A national policy of education 1986
X B. Rashtriya madhyamik shiksha abhiyaan
X C. Kothari commission

&” D. Right to education act, 2009
Question ID : 75322912680

Q.5 Ininstructional scheme of any subject, planning the lesson as per the time table,
using the transactional strategies and using the appropriate media refer to:

Ans X A facets of curriculum
X B.meaning of curriculum
o’ C.implementation of curriculum

X D. advantages of curriculum

Question.ID : 75322912695

Q.6 National education commission ( 1964-1966) is popularly known as?

Ans X A University education commission
X B. Secondary education commission
/< C. National knowledge commission

«” D. Kothari commissior
Question ID : 75322912679

Q.7 Which of the following is not a learning disability?
Ans ¢ A Visual impairment

X B. Dyscalculia
X C. dysgraphia
< D.Dyslexia

Question ID : 75322912687

Q.8 Thesumtotalof allthe activities, academic and non-academic which have an
impact on student's learning is called as

Ans X A syllabus
& B. curriculun

X C. Curricular activates

X D. modules

Question ID : 75322912691
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Q.9 Zone of proximal distance and scaffolding are some of the key process of child
development. Who gave these terms?

Ans ¢ A Vygotsky
X B.Rousseau
X C. Kohlberg
X D. Piaget

Question ID : 75322912678

Q.10 Which of the following is not a facet of curriculum?
Ans X A Design

/X B goals and purpose of education
«” C. Designing co-curricular activities

2 D. Qutcomes

Question ID : 75322912694

Q.11 Tina grasps the concepts of addition in the school, while going back home she buys
some refreshments and calculates the expenses herself. Which component of

curriculum is highlighted in the above statement?
Ans X A Values

X B. Content
X C. Concept

«” L. Application

Question ID : 75322912692

Q.12 Which ministry anchors the Sarv Shiksha Abhiyaan?
Ans X A Ministry of Co-operation

X B.Ministry of commerce and industry
& C. Ministry of human reSouree develapmer

X D. Ministry of women and child development

Question ID : 75322912684

Q.13 Which university was set up following Wood's Despatch?
Ans o A Calcutta

X B.Bihar

X C.Delhi

X D. Lucknow

Question ID : 75322912682
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Q.14 Which of the following is not a feature of curriculum?

Ans X A Curriculum as means
” B. curriculum as end
X C. curriculum as experience

X D. curriculum includes all activities

Question ID : 75322912693

Q.15 Which of the following is not an important concepts of Vygotsky's theory?
Ans X A culture

X B.language
X C.social interaction

o D. assessments

Question ID : 75322912677

Q.16 The women being considered as weak and vulnerable, needing protection and not
being able to survive alone refers to:

Ans X A equity
o’ B. sterectype
X C.inequality
X D. Gender hias

Question ID : 75322912685

Q.17 Which of the following is not a determinant of curriculum?
Ans X A individualtalents

X B.social aspect
o’ C. gender roles
X D. basic needs

Question ID : 75322912696

Q.18 There are mother centred societies where the elder female of the family is the
leader . The power of property passes from the mother to the daughter. Which
societyis being referred?

Ans X A Misogyny
X B. patriarchy

v C. matniarchy
/X D.monogamy

Question ID : 75322912686
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Q.19 If a child is suffering from dyslexia, the teacher must adopt the following remedial
strategy:

Ans X A. Continue the teaching learning process without any modification
25 B. providing counting material such as abacus, rulers, etc.

«” C. Help develop his listening skills ,while tracking the words from the audio book /
recorded study material/s provided

/X D. performing gross bodily exercises showing directions such as left and right

Question ID : 75322912690

Q.20 What do you mean by dysgraphia?
Ans X A Attention disorder

X B.difficulty in reading
/X C.Unable to perform number based operations

” D. difficulties with spelling and/cr trouble putting thoughts on paper

Question ID : 75322912689

Q.1 What refers to the subconscious process of 'picking up' a language through
exposure?

Ans X A listening
/X B.speaking
«” C. acquisition

/< D learning

Question ID : 75322912711

- e v - e

Q.2 Achildis able to acquire his mother tongue hy?
Ans .l A. informal way

/X B.schooling
X C rules

X D. formal way

Question ID : 75322912705

Q.3 Assessments like Unit tests and class tests fall under:

Ans X A portfolio assessment
& B. formative assessment
X C. summative assessment

X D.CCE

Question ID : 75322912715
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Q.4 Which of the following is least related to objective based planning, teaching and
assessment?

Ans X A clear curriculum definition
/X B.assured assessment validity
X C.ease of teacher workload

« D. clear administrative policies

Question ID : 75322912703

Q.5 Which stage in child development refers to the holophrastic age?

Ans X A.combining words stage
/X B.sentence making stage
X C.two word stage

«” D.one word stage

Question ID : 75322912710

Q.6 The teacher delivered her lesson plan in the classroom and uploaded the study
material on Google drive. She gave the access of the link to all the students for
their ease. Which type of ICT source did she use?

Ans X A Blended learning
X B. Traditional method
& C. Cloud computing

X D. Social media

Question ID : 75322912698

Q.7 At what age does the child start babbling?
Ans ¢ A 6 months

X B.1year

X C.1month

X D. 6-12 months

Question ID : 75322912713

Q.8 At what age does the child develop his fluent speech with no errors?
Ans o A 12 years plus

X B. 14 years plus

/< C.11 years

X D.B-12 years

Question ID : 75322912712
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Q.9 If the test results are consistent it will be termed as?
Ans ¢ A reliable test

/X B. subjective test

X C. objective test

X D.valid test

Question ID : 75322912704

Q.10 The students belonging to low income families are not able to cope up with the
studies during the pandemic as they do not have the online resources available.
Which disadvantage of ICT has been highlighted in the above statement?

Ans ¢ A Expensive
X B.untrained teachers
X C. addictive and time waster

/< D.rigid nature

Question ID : 75322912700

Q.11 Vernacular language refers to:
Ans X A second language

X B. Hindi
« C.firstlanguage

X D Dialects

| Question ID : 75322912706

Q.12 Artwork, lab reports or reading logs are examples of which type of assessment?
Ans o A portfolio assessment

X B. formative assessment

% ¢, CCE

X D. summative assessment

Question ID : 75322912716

Q.13 First language acquisition does not involve the following step.

Ans X A telegraphic speech

" B. word coinage
/X C.cooing
/X D. babbling

Question ID : 75322912707
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Q.14 The development of second language skills must be in?

Ans X A sequential manner
/< B.integrated manner
X C.inisolation

« D. sequential order and in an integrated manner

Question ID : 75322912709

Q.15 Which of the following satellite is dedicated exclusively for educational services?
Ans X A EOS

«” B.EDUSAT
X C.EMISAT
X D. GSAT

Question ID : 75322912702

Q.16 What is the time duration of micro teaching cycle?
Ans X A.35minutes

/X B. 40 minutes

o” C.36 minutes
X D. 30 minutes

Question ID : 75322912714

Q.17 The teacher provides study material a day before teaching the same, the students
go through it according to their own pace and use the time in class to complete
assignments with teacher's assistance. What kind of learning is highlighted in the
statement?

Ans X A Distance leamning
X B. Traditional learning
X C. Flipped learning

«” D. Blended learning
Question ID : 75322912699

Q.18 What is the correct sequence of acquiring a language?
Ans X A writing speaking,reading,listening

X B.Listening,reading, writing,speaking
/5 C. speaking,listening, reading,writing

‘-‘.‘r'y“ istening, speaking, reading, writing

Question ID : 75322912708
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Q.19 Which of the following is NOT anICT tool?
Ans X A Overhead projector

/X B. Social media
«” C. Newspaper

X D. Television

Q.20 Which of the following is not an advantage of ICT in education?
Ans X A Time effective

& B. promotes traditional learning
X C.bridges the communication gap

/5 D. access to more information

Question ID : 75322912701

Question ID : 75322912697

Q.1 Providing recess in schools will help the students to:
Ans X A complete their homework

& B. develop sccial skills
X C.isolate themselves

/X D.intra personal skills

Q.2 Which of the following is a part of performing arts?
Ans o A music

X B. Painting

X C.photography

X D.sculpture

Q.3 The main aim of teaching social sciences is:
Ans X A rotelearning

Question ID : 75322912735

Question ID : 75322912727

o” B. Tocritically analyse our environment and prepare ourselves to deal with the real life

situations

X C.in order to write the examinations

25 D.tounderstand the historical events only

Question ID : 75322912724
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Q.4 The ability of teachers to communicate the tasks, roles, goals, and dynamics of a
particular game scenario as seen from a player perspective is called as?

Ans X A instructor
/X B.guide
«” C. playmaker

X D. evaluator
Question ID : 75322912733

Q.5 NCF 2005 recommends that:

Ans X A.Thechildren must learn the content and do good in examinations
X B. Thestudents must carry all the bocks to school
&’ C. children must be able to relate the subject to real life

< D. the student must focus only on academics

Question ID : 75322912722

Q.6 The child looks around into his environment in a/an:
Ans X A systematic way

< B.classifying into science and society
X C.isolated manner
o D holistic manner

-——
| Question ID : 75322912723

Q.7 Which of the following is not an example of inter-personal skills?
Ans X A teamwork

X B activelistening

X C.leadership
«” D. apathy

Question ID : 75322912734

Q.8 Which of the followingis not a theme of EVS?
Ans X A family and friends

«” B. Culture
X C.travel
/X D. shelter

Question ID : 75322912721
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Q.9 Game-Based Teaching as a dynamic interplay of four knowledge practices, which of
the following is not a part of it?

Ans g A. prepositional knowledge
X B.curricular knowledge practices
X C.scenario based knowledge practices

X D. everyday knowledge practices

Question ID : 75322912732

Q.10 Which of the following is not a toolto develop social skills in students?
Ans X A street play

o’ B. examination
X C.football
2 D. debate

Question ID : 75322912736

Q.11 Tom is asked by his mother to go to the vegetable shop and buy 1 kg potatoes and 2
kg tomatoes. He calculates the total amount and give it to the vendor. Which
feature of mathematics has been highlighted in the above statement?

Ans X A pure mathematics
X B.mathematics is an art
/X C.rotelearning

«” D. applied mathematics

! Question ID : 75322912720

ol

Q.12 Which of the following is the reason to find mathematics difficult?
Ans X A gender differences

X B.parental interference
& C. structure of mathematics

X D.inequality

Question ID : 75322912719

Q.13 Which branch of philosophy deals with nature, expression and perception of beauty?

Ans X A Epistemology
X B.Logic
 C. Aesthetics
/X D. meta-physics

Question ID : 75322912728
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Q.14 Social science encompasses diverse concerns of society, including:

Ans X A political and economic dimension
” B. historical, political, geographical, economic dimension
X C.econamic dimension

X D. historical and geographical dimensions

Question ID : 75322912725

Q.15 Ateacher took the students in the school playground and asked them to count
various types of flowers they see and classify them. The teacher is trying to:

Ans ¢ A helpstudents make connections with mathematics and their real life
/X B make the class joyful
X C.teach them through project approach

< D. enhance the reasoning power of students

Question ID : 75322912718

Q.16 Whichrole of ateacher concerns planning and communication of the overall goals
of a game scenario inrelation to particular learning objective ?

Ans X A guide
X B.evaluator
o C.instructor
X D. playmaker
(
|

\

Question ID : 75322912730

Q.17 The teacher asks the students to prepare a role play on 'The Dandi March' bilingually.
Which educational importance of art has been mentioned in the statement?

Ans X A dancing skills
X B.rotelearning skills
X C. painting skills

o D. Language skills

Question ID : 75322912729

Q.18 Ateacher wants to assign the project on 'Revolt of 1857, based on primary
sources. Which of the following is not a primary source?

Ans X A oral history
X B. Newspaper archives

X C. Autobiographies
o U.novels

Question ID : 75322912726
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Q.19 Which of the following sequence is correct for Diagnostic test?
Ans ¢ A Find out the mistakes of students in previous paper, make a test, administration of
a test, locate the errors, find the causes of problems

X B.Find out the mistakes of students in previous paper, make a test, administration of
a test, locate the errors

X C. Prepare a plan, prepare a test, administer the test, locate the errors.

/X D. Prepare a plan, prepare a test, administer the test, locate the errors, repeat the test

Question ID : 75322912717

Q.20 In a pragmatic pedagogical approach, the teacher should make use of which type of
game?

Ans X A self expression
X B. enquiry

X C.training and revision

& D. Simuiation

Question ID : 75322912731

Q.1 Sports dayis celebrated in schools in order to promote
Ans X A social education

X B.yoga education
X C.moral education

«” D. physical education

Question ID : 75322912742

Q.2 Which of the following is not a member of School Management Committee?
Ans X A Principal

X B. Parents
&’ C. Students

X D. Government official
Question ID : 75322912755

Q.3 To be aware of one's own inner processes i.e. thoughts , feelings, likes , dislikes etc
is known as :

Ans X A Self esteem

 B.self awareness
X C.metaphysics

X D.inter personal skills

Question ID : 75322912738
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Q.4 Which of the following is the primary source of interaction for the child?
Ans X A teachers

/< B.neighbourhood

” C. family
X D. friends

Question ID : 75322912739

Q.5 Which of the following is not a part of the content of Work Education?

Ans X A community out reach activities
& B. memorizing skills
X C.self help activities

/5 D. pre-vocational skills development activities

Question ID : 75322912748

Q.6 Bandura did an experiment to check whether the social behaviour can be acquired or
not. On which object did he conduct his experiment?

Ans ¢ A. bobo doll
/X B.dog
X C.cat
X D.sultan

w
|
I

Question ID : 75322912740

Q.7 The need of physical health Is important in children for
Ans X A mental development

«” B. holistic development
X C.social development

/X D. emotional development

Question ID : 75322912741

Q.8 Which termrefers to a person's overall sense of his or her value or worth?
Ans X A personality

XX B.self actualisation

o C. self esteen

X D ego

Question ID : 75322912753

Q.9 Which of the following is a horticulture skill?

Ans «” A Mushroom cultivation for consumption, preservation or sale
X B. Silk worm rearing for sale or yarn-making
X C. Milking of dairy animals and managing allied activities

X D. Fish rearing in small ponds

Question ID : 75322912750
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Q.10 Which one of the factors does not influence the health of an individual?
Ans X A environmental

/X B. personal
X C. biclogical
o D. economic

Question ID : 75322912746

Q.11 Which of the following is not related to health education?
Ans X A chronicdisease awareness

X B.maternal and infant health
o’ C. promotion of drug use

/5 D. mental and behavioural health
Question ID : 75322912745

Q.12 If the students are unable to answer the teacher at the time of formative
assessments, then

Ans X A theteacher mustnot worry about the individual interests of the child
25 B.theteacher must promote rote learning
o C.theteacher must self reflect upon her teaching

< D. the teacher must use corporal punishment

-——
| Question ID : 75322912752

Q.13 Which of the following Is not an important function of SMC?
Ans X A Monitoring the working of the schoo

X B. Preparing school development plan
«” C. Conducting student teacher et everyimonth

X D. Monitoring the utilization of grants received from govt. or local authaority

Question ID : 75322912756

Q.14 Ateacher gives a lecture on an Annual day, she is able to clearly state her message
and interacts with the audience. She respects the audience and is able to
understand their point of view. Which type of skills are being highlighted here?

Ans X A Intra personal skills
X B. Social skills

& C. communication skills

X D. affective skills

Question ID : 75322912754
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Q.15 Which of the following is not a part of community outreach activity?

Ans X A Activities related to sensitization towards weaker sections of society.
«” B. Preparation of family budget
X C. Studying the nutrition and health status of people in a village/city/slum/tribal area

X D. Volunteer work in hospitals and fairs, during natural disasters
Question ID : 75322912749

Q.16 Parents of Ram are explaining him the effects of drinking,smoking and drugs. Which
type of education are they delivering to the child?

Ans X A sexeducation
/X B fitness education

& C. health educatior

< D. mental education
Question ID : 75322912744

Q.17 Which of the following is not an objective of physical education?
Ans X A social adaptability

X B.mental balance
o” C. Curricular activities a hievement

X D. emotional adjustment

-——
| Question ID : 75322912743

Q.18 There are 9 core areas in work education, which of the following is not a part of it?
Ans X A health education

«” B. obesity removal
X C.information technology

25 D. nutrition education

Question ID : 75322912751

Q.19 Physical activities, as an inherent part of the educational process, help develop
coordination between hand and head alongside self reliance thet best represent:

Ans X A valueeducation
/X B.physical education

X C.arteducation

J D. work educatior

Question ID : 75322912747
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Q.20 The communication is said to be complete after
Ans X A decoding the message

/X B.sending the message
«” C. feedback

X D. coding the message

Question ID : 75322912737
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